50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Mwer any FIVE full questions, c{wﬁ%’@g ONE full question gﬁiﬂWach module.
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M« odule-1 &
1 a. Define Management. Explain th%mture and characteristics of’mﬁnagement (10 Marks)
b. Write about roles of managem: %d what are different leve%ﬁf management. (10 Marks)
OR '
2 a. Explain the modern maﬁ%”%ement approaches. s (10 Marks)
b. State and explain 1mpomnée and purpose of planpm Process. (10 Marks)
) Module-2”
3 a. Stateand explém@the principle of organization. (10 Marks)
b. Explain w1tm%k%tch line and staff organization. (10 Marks)
¥
4 a. Explain the techmques of selectg%nn of staffing. *"&%“ (10 Marks)
d b. Define controlling? Explain the ethods of establls}@g sound controllmg (10 Marks)
W@
Module- %i%

5 a. Explain how the proble% $ ving process le admg ultimately to a dec%on is carried out.
¥ (06 Marks)
b. Define elasticity a %‘d éxplain the factors that, fluence elastldﬁ of demand. (06 Marks)

C. A person takes a lemn of Rs.10,000/- from,a Bank at Interegt *10% PA. Find the amount if;
(i) Interestis compounded ann »  (ii) Interest i compounded half yearly.
(i) Interest1s compounded qua%tenly (iv) Interest is compounded monthly. (08 Marks)
S, Sy

L
L

OR %m y

or Lender and Borrowers. (04 Marks)
‘id»g}ﬂto an account each for the next five years.
he'total amount. The account will have at the end

Draw:thé cash flow diagram
An amount of Rs. 1200““’%e “year is to be p
£ Using Nominal Inte estgﬁo“;f’ 12% determin€
%%W of 5™ year under the following condition

(1) Deposit mad,e at the end of each yedr with interest compounded monthly.

(i1) Deposit madge“at the end of eac :year with interest compounded continuously. (08 Marks)
c. The rights, :
of Rs.100,

P‘P’

y a'patent have been sold under an agreement in which annual year end payment
0 are to be made for'the next 10 years what is the future sum of this annuity?

What is the present worth the annuity at an Interest rate 7 percent? (08 Marks)
p y

%x Y Module-4

L

Briefly explain the co&dltlon for present worth comparision. (05 Marks)

Explain IRR (Ing%;st Rate of Return) and MARR (Minimum Acceptable rate of Return).
y (05 Marks)

o e
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Two holiday cottage are under consideration compare the?“iﬁesent worth of the cost of
24 years service at an Interest rate of 5 percent, when niﬁgh cottage has a realizable salvage

value.

Particular Cottage-1 ‘1 Cottage-2
First cost Rs.4500 ® Rs.10,000
Estimated life 12 year :

Annual maintenance cost Rs.1000 « 7

(10 Marks)

WE; ;ﬂ ‘V%W

Particular
First cost
Salvage value

Annual operating cost Rsaf/go Rs.950
If both generator ha%é ﬁfrfe of 4 years and the %ﬁt{%%est rate is 15 percent per year which

offers the lowest equ ajjﬁnt annual cost? - {10 Marks)
Farm house can be, piirchased for Rs.90,000 and the expected resale value after 20 years is
Rs.60,000. If th .annual rental income is R§711,800 and expenses Rs. 4700. What will be the

rate of return eméd on this farm house?™ % (10 Marks)
Vx@mw‘f)
Module-5
; xplam the contents of elemgnt of cost. Fa (05 Marks)

A firmsis producrng 100 units ger day The direct material cost is fund to be Rs.160. The
direct labour cost is Rs.200 and Factory over hea : vch%rgeable to it is:Rs.250. If the selling
expenses are 40% of the £actory cost. What 1 ach unit to realize a
profit of 15% of the selling price? (07 Marks)
A mild steel compone% ds shown in a Fl@%QQ (c) below is to be manufactured Find the
Total cost of materr@l the densrty of materral is 7.81 gm/%nw The cost of material is

,‘N‘&s« h

ﬁﬁm & ) Mﬁg‘*fw Fig. Q9 (¢) (08 Marks)
i~ OR
Briefly exp%%m the following r@ethods of depreciation: CMRIT LIBRARY
(i) Diminishing balance: @ethod BANGALORE - 560 037
(i) Sinking fund metho% (10 Marks)

A CNC machine costs:Rs.30,00,000 is estimated to serve 8 years after which its salvage
value is estimated to be Rs.2,50,000. Find
(1) Deprrcrau@fund at the end of the 5™ year by fixed percentage method and declining

balance. :rnet hod.

(i) Book vaMé‘; of the machine after 4™ year and 6" year by declining balance method.
(10 Marks)
% %k ok % %
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